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The lender himself is particularly meticulous.

OVERVIEW

9°R7 927 maintains that if the 2>7v claimed 11°°77 07V °2109, even if X¥1 °"nD PR
anx 2pnn, they are not believed. The reason is because there is a P that a
mon is careful to have only 2Ww> 07V sign on the ww. It seems implicit
from this reasoning that it is presumed that there was a loan, and therefore,
we must conclude (according to n") that the loan was signed by o™ w> o7v.!
The question arises, what do the 7127 presume; do they agree with »"7 that
there was a loan, however the 7P of P>7 P7°n cannot overpower the 119
7oXY. Or do the 1327 maintain that there is no assumption of a loan, and
therefore no 11 of P7 p7n.
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And according to the 3129, who argue on n"7 and maintain that they are
believed to say that 11°°77 M7y >2109, the 1°7 is that it is not even considered as
an undocumented loan. The Mm% owes no money at all.

mMooIn anticipates a difficulty:
The o7y are presently testifying that there was a loan; however they were unqualified
then to sign as witnesses. Now however they are not M7y 709, Seemingly we should
believe them now that there was a loan. Granted that there is no documented loan, for
when they signed on the q0w they were 0°7105. Nevertheless now they are not 2°9109 and
are testifying that there was a loan. It should be considered as a 715 ¥ m%n. If the m?
claims there was no such loan he should be obligated to pay.” msown explains why it is
not considered even as a 8"y M -
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For, concerning testimony, it is required that the 0°7v be 9w> both in the

beginning when they observe the testimony and in the end, when they

"If there was no loan then the assumption of p™7 P71 791 mb» is meaningless. A M7 is P only when
he actually lent money. If the entire story is bogus, then there is no p>7 p7n. See ¥nwa 1"7 >"w (where it
[also] appears that he disagrees with '01n and maintains that according to the 1327 it is a 5"y M%)

% There is also therefore no P>7 P70, since there is no established loan. See (however) apm 7"7 X,1»> MdOIN
[TIE footnote # 1].

3 If the m¥ claims that he paid it then he would be 21, since it is only a 5"y mn. However if he claims
2"11, he is tacitly admitting that he certainly did not pay. Therefore he will have to pay since the o7y
testify that he borrowed money
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testify, as the X713 states in 399111 @ P79, In our situation there is no M w>2 10N,
for at the time of the loan, these 0>7v were 2°2109. Therefore, even though they are o w>
now, we cannot accept their testimony.

SUMMARY
The 2°»51 maintain that if the 2°7v claim 13°°7 M7y *9109, there is no loan at
all, not even a 9"y mn, since it was not NIWI2 INHAN.

THINKING IT OVER
Why indeed are the o°7¥ not believed that there was a loan with the 13 that
they could have not said that they are o057

4 See w"wn.
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